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POPULATION STUDIES
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks cach. All
questions are compulsory.

Rcad the paragraph given below and answer the questions (1 to 4) :

India has made considerable progress over the years in the health sector under National
Health Mission, that has improved the availability and access to quality health care, specially for
the poor women and children residing i rural areas. The JSY scheme under NHM had barrier of
‘Out of Pocket Expenditure” on drug, diagnostics, transport, ctc. The Janani Shishu Suraksha
Karyakram (JSSK) wus launched to provide Iree treatment, drug, diagnostics, diet and transport
during nstitutional delivery., With the implementation of these schemes, significant progress is
obscrved in institutional delivery and ANC coverage. As per the latest data of the Rapid Survey
On Children (RSOC), the msututional deliveries in India are 78.7%, but only 61.8% women
reccived ANC 1n first trimester and the coverage of full ANC was as low as 19.7%. The desired
coverage and quality of maternal health services 1s sull a matier of concern,

In vicw of above findings, covernment has launched a scheme to provide minimum
package ol ANC services on the 9" day ol every month (o ensure that every pregnant woman
receives atleast one cheek-up in the 2™ and 3™ trimesters of preenancy.

1.  What are the barriers in the utihzation ol JSY scheme ?
(1) Lack of faith in government health lacilities.
(2)  Not getting JSY mcentives in time.
(3)  Non-availability of “out of pocket expenditure™ on trcatment, drug, and diagnostics
ete. during delivery
(4y  Lack ol awareness about JSY scheme.

2. Under the Janani Shishu Suraksha Karyvakram (JSSK), which of the following arc
provided “lree of cost” during delivery ?
(1} Free ransport facility during delivery and referral,
(2)  Free treatment, drugs, diagnostics during delivery in government health facility,
(3)  Free diet during delivery mn the government health facility.
(4y  All ol the above.

3. Which one of the following survey findings, government used to further improve coverage
and quality of ANC services in government hospitals ?
(1)  NFHS-III (2 AHS2011-12
(3) DLHS-IV 4y RSOC2012-13

4,  Which ol the recent scheme 1s launched by the Government ol India to improve quantity
and quality of ANC and dclivery scrvices ?
(1)  Vouchers to pregnant women for frec delivery in private hospitals.
(2} Free transport 1o pregnant women for delivery.
(3)  Incentives to pregnant women for insttutional delivery.
(4)  Minimum puackage of ANC services on 9" of every month,

Paper-1I1 2 JA-015-17
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Which among the following 1s the correct scquence of first four most populous countries
of the world n 2016 7

(1} China, India, Brazil, USA (2)  China, India, Indoncsia, Bangladesh

(3}  China, India, USA, Indonesia (4)  China, India, Brazil, Indoncsia

Which onc among the following 1s not a mcasurc of mortality 7

(1Y  Crude Death Rate (2)  Avcrage Life Expectancy

(3)y  Infant Mortality (4y  Net Reproduction Rate

Which of the following country was not covered under WIHO Study on Global Ageing and
Adult Health (SAGE) ?

(1)  China (2} India
(3 Mexico (4) Brazil

Which among the following sectors has over representation of women worker 7

(1} Scmi-skilled services (2)  Managerial services
(3)  Professional Services (4)y  Technical jobs

Match the scholars in List — I with the models in List - II :
List -1 List — II

a. E.W. Burgess i.  The Scctor Modcel
b.  Walter Christaller 1. The Central Place
¢.  Homer Hoy! . Multple Nuclet
d.  Harms and Ullman v, Concentric Zone
Codes :

il b ¢ d
() 1 1 VoI
(2) v 1 ] 11
(3) 1l v I ]

4y di i v

Paper-IIT 4 JA-015-17
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Which of the following combinations have not been proposcd by Julian Simon ?

L. Supported the club of Rome’s Iimits to growth.

i, Assumed that population growth causcs technological progress.

. Used the second law ol thermodynamics to assume that technolgoical progress is
costless.

tv.  Assumed the classical view of technological change,

Codes :

(1 i i v

(2) 1 1 111

(3) i IV

4y 1vooqil

As per NFHS-IV findings, which of the following group of States shows “Clecan tuel for

cooking (Elcctricity, LPG, Biro-gas)™ in descending (higher to lower) order 7

(h
(2)
(3)
(4)

Goa, Tamil Nadu, Sikkim, Puducherry
Goa, Tamil Nadu, Puducherry, Andhra Pradesh
Goa, Tamil Nadu, Tclangana, Andhra Pradesh

Goa, Taml Nadu, Maharashira, Sikkim

Which of the following combination 1s not assoctated with "Chipko” Movement 7

Urban poor

i, Saving the trees in the forests
. Tractor farming

iv.  Housing in rural arcas

Codes :

(1) 1 1 111

(2) I i1y

(3y 1 o1 v

(4) [ I IV

6 JA-015-17
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Match names of the authors given in List — I with the title of the books given in List — 1T :

List -1 List —II
a.  Warrent 5. Thompson 1. Population Problems
b. Donald J. Bogue ii.  Principles of Demography
c.  United Nations 1. The Determinants and Consequences

ol Population Trends

d.  Robert D. Ruthertord and Minja 1v.  Statistical Modcls for Causal Analysis

Kim Choe
Codes :
a b C d
() 1l ] nIv
(2) 1 1v 1 1
(3 1 11 11y

) iv i i i

Which amongst the following measures 13 not summary Measure ol Population Health
(SMPH)?

(1)  QALYs (Quality Adjusted Life Ycears)

(2)  HALE (Health Adjusted Life Expectancy)

(3} [{:: (Lile Expectancy at Birth)

(4y  DALE (Disability Adjusted Life Expectancy)

Among the following combinations, which one correctly lists (by United Nations), five

countries with higher to lower lifc expectancy in 2014 7
(1) Japan, Smgapore, Switzerland, Austrahia, Italy
(2} Japan, Iceland, Switzerland, Sweden, Australia
(3)  Japan, Ttaly, Switzerland, Hong Kong, Australia

(4)  Hong Kong, Japan, ltaly, Switzerland, Singapore

Paper-1T1 8 JA-015-17
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According to Leibenstein, marginal utility of a child — Which onc is correctly detined 7

(1} Insignificant cconomic utility of a child
(2)  Unlity of an additional child
(3)  Psychologically less important utility

(4y  Utbty ol hirst and last children

prepp
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By which ol the following means, a country can move along the continuum from less

developed to more developed country 7

(I} Technology cap (2)  Cultural convereence
(3)  Technology transfer (4)  Occupational structurc

Match Indicators, shown in List — [ with the Bigger States shown in List — 11 ;

List — I List — I1
a.  Highest Birth Rate (SRS, 2014) 1. Bihar
b. Highest IMR (SRS, 2014) 1. Chhattisgarh
c. Lowest Modern Contraceptive n. M.

Prevalence Rate (DLHS-4/ATHS)
d. Lowecest incidence of institutional iveyLLP,
deliverics (DLHS-4/ATS)
Codes :
3| b ¢ d
(ry v ] 1
(2) i I VoI
(3) 1] R T ]
(4) I i iy

What is the importance of Ozone (O) layer in the upper atmosphere ?
(1) Ttenbances the greenhouse ellect.

(2) It has led to sharp increases mn all types ol cancer.

(3) It absorbs harmful ultraviolet radiation.

(4) Tt reduces the amount of acid rain and urban smog.

Paper-1I1 10
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Which of the lollowing approaches are included in the mmplementation {framework ol

NRHM 7
(1Y  Communitization and Flexible Financing

(2)  Improved Management and Flexible Financing

(3)  Improved Management, Flexible Financing and Innovations in Human Resource

Management.

(4y  Communitization, Flexible financing, Improved management, Innovations
Human Resource Management and monitoring progress against standards.

n

Match the items in List — I with List — IT and sclect the correct answer using codes given

below :
List -1 List - 11

a.  Montreal Protocol 1. Ozonc depletion
b. Rio-Summit i, Greenhouse gas
¢.  Ramsar Convention tii.  Convention on biological diversity
d.  Kyoto Protocol 1v. Wetlands Convention
Codes :

a b C d

S It [ T
() iv i1 i
) i i iv i
@ i i iv il

Which onc of the following 1s not in analytical framework for the study of child survival

as suggested by Mosley and Chen @ 1984 7

(1) Maternal lactors (2)  Ecological Tactors
(3)  Environmental lactors (4)  Nutrient deficiency

Which among the lollowing 1s incorporated in the definition ol chronic food insecurity 7

(1) Long term mability to meet minimum requirement.
(2)  Short term inability to meel mimimum reguirement.
(3)  Inabihity to meet the requirement due to fluctuation mn production.

(4)  Inability to meet the requirement due to mflation,

Paper-IIT 12 JA-015-17
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T 3 TR STeRITeTeR R STERe < Ui § St Tee e g 2

AT ZATAYHHRAT R XA T 5 EhIoTeh ST |

AT AT T L T

IR H 3AN-TRTE & 0

TeTE TR 3Eddr |

SATTHA T H T HATAI |

TSI o R0 ATE9HaRaT T R T 2T |
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Which onc of the following measures docs not consider/include only new causes of 1llness

during rcference period (time period of obscrvation) 7
(1) Incidence rate (2} Autack rate

(3)  Sccondary attack ratc (4)  Period prevalence rate

Muatch the scholars in List — [ with the concepts in List — 1 :

List -1 List - IT
a. Emile Durkhcim . Citics are growth machincs
b. George Simmel 1. The racialisation paradigm
¢. D.EB. DuBos . Urbanism — life within the city

d. John Logan and i1v. Social solidarity

Harvey Morotch
Codes :
a b C d
(1 v il 11 1
(2) 1 1 111 1V
(3) 11 1 iv i
(4 i 1v 1 11

Which one among the lollowing 15 the correct expression of BOD 7

(1} Biological Oxyeen Demand (2)  Biotic Oxygen Demand
(3)  Biochemical Oxygen Demand (4)  Biological Oxidation Demand

Who among the following scholars created Central Place Theory related to Human
Scttlement 7

(1) Burgess (2)y  Todaro
(3)  Walter Christaller (4)  Adcle E. Clarke

What 15 the name given (o rapid populaton increase that has taken place since the

Industrial Revolution ?

(1}  Population growth (2)  Population bomb
(3)  Population explosion (4)  Population bang

Paper-IIT 14 JA-015-17
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T SFale] (TR Bl FHATEN) & SR HETAtEd T 3 R O g7 AT F shael 0 ST

(1) 2A9a9 &% (3Hed 2) (2) AT ST (37CH 1)

{:3:} o 3 x_arq_{.'\.'\:\uhu:. Ji'a_} {4} u.,-. Ecra{_(g—-r\_’\ur\.{\:.‘ia_}

|"

AT — | & TR &1 T — [| & ST § GHierd Sie

™ ™

T - 1 T 11

o

o, ,;14 70 Erﬁg‘rr 1. ¥ET [gerTs I TITE —ET |

b ST e i, STITERLOT HIaHT

c. Tl e asd i, IEEIT — YT % TR e

d. S EE G9r g9 9 v, Wi TR

T

il b ¢ d
(v i i i
(2) i i I v

3y i i v i
@ ioiv i i

feferiad & & &9 & BOD i T81 AAtaeafsd & 9

(1) @i i fears (2) @ T e

(3) TRIHEESG AN S (4)  FETATSTHRA SEFEEYH B

lelma 0 9 g foms T aFd @MU 99497 ™ =I4 & (G & Jiaare - T6ar 2
(1) =& (2) BRI

.

(3) @Ry ey (4) TUEA T FAH

SN ST & A1E O § g8 SIEE ghg @ wr any fea war 7 0

(1) ~HEE g3 (2)  STEET 99

(3y  SHEE [GeRE (4) ST SEE @)
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Match the internationally celebrated days shown in List — I with the days when they arc
celebrated shown i Last — 11 ;
List -1 List - II
a.  World Health Day 1.  November 16
b.  World Population Day 1. April 7

c.  Day of Older Persons . July 11
d.  World Toilet Day iv. Qctober |
Codes :

i b ¢ d
(ry v I ]
(2) E I VR At i

3y i di v i
CO Tt [ S Y

In Rank-Size-Rule which one ol the following relationship between city population and

the city rank is correct ?

(1) Linear (2} Hyperbola
(3)  Concave (4)  Logistic

Pollutants that are introduced into the environment by human activity are correctly called
by which of the tollowing :
(1) Biological pollution (2)  Radation pollution

(3)  Chemical pollution (4)  Anthropogenic pollution

Which among the following has been the rank ol India’s Human Development Index
according to UNDP report for the year 2015 7

(1y 125" 2) 130"

(3) 136" (4) 138"

A population pyramid with a wider base indicates which of the following 7

(1}  Declinc of population (2)  Rapid growth n population
(3)  Slow growth in population (4)  Stability in population

Paper-TIT 16 JA-015-17
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29, T - 1 T TIN0 N0 SFARILE I B Al — 11 T Ik G T % 5 o e G I

Tt — 1 = — 11

= =

a,  TevE @ ey Y
b. fava SHE fTad . 7 e
¢ TE e TOd i, 11 S
d. Tewd e Hed v, | ot
E T

a b 2 d
(y v I i

() i i iv i
Q) i i iv i

(4y m I ] 1V

30, TR ARR-TTEW T IR S SHEEI] 71 WY & I o a9 Wed o T 9 S 61 IR 9 &

(1y @ l{r-;ﬂr:l' q7) (2) ATTTTE S GE AT
(3) AT (hT=he) (4) TR (SITS2)

31, WA RETSE g TEERY § e 9T TENeh] B R § F S 9 WE S € ¢

(1) ST qguv] (2) Ao Uguo]
(3) AT TEHOT @)  TEESTR TEE

32. TRFET U I 2015 7 USRI [GeTE HREH RO & FIER AMd @5 Jaweh o ST W
P n,

: a;"ﬁ_-&'f‘w - %}
(1) 125a (2) 1309

(3) 13680 (4) 138

33. =R MY el ST e (R 20 e & 9

(1) SFree = % () ST A 9
(3) SEEE " UM gig (4) SO oA

JA-015-17 17 Paper-111T



www.prepp.in rrepp

Your Personal Exams Guide

34. Match items 1n List — I with the items given in List — IT and sclect the correct answer using

the codes given below :

List =1 List = 11
a.  Direct Standardization 1. Mortality by cause ol death may be analysed 1n
of Crude Death Rate terms of ratio and rates
b. Indirect . It 1s a relative measure of Mortality to indicate
Standardization of changes in the level of overall mortality or a
Crude Death Rate population

Comparative Mortality 111, It involves sclection of a “Standard Population’

O

Index and computing of the weighted average of the
age-specilic death rates in a given area using the
age distribution of the standard population as

welghts.

d. Causc-specitic death 1v. The crude death rate of the standard population is
ratc multipliecd by the ratio of actual deaths to the
number of deaths cxpccted on the basis of the age
specitic death rates of the standard population
and population distribution by age in  the

population undcr study,

Codes :

i b @ d
(ry v i 1 i
(2y  dir v ii i

S I R
@ i i iv i

35, Which of the lollowing measure 1s used lor calculating disease burden ?
(1} Fertility measures (2)  Nupuality table
(3)  Migravuon measures (4)  Disability-adjusted life years

36, According to NFHS-IV, which ol the following Stales had highest percentage ol

mstitutional delivery 7
(1} Tamil Nadu (2} Karnataka
(3)  Goa (4)  Andhra Pradesh

Paper-TIT 18 JA-015-17
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il

Iy.

.

(h
(2)
(3)
(4)

[ [

=l — ] = — 1

= =

STATA T 3 % W59 T g o FRUT 5 o &

ﬂgfﬁﬂ?[ﬂ?ﬂﬁ?ﬂwg i
n =T TEgeruT TRy SEr 2 |

b

I E

3T9TTEE g 7Y i,
ATUETE] TR ERI0]

T7 TYUT g 7T 3Tl ST % W 0 aRedd
ST L o1 Tog 5Y 1 91987 A0 & |

T R % B U AR SHEE] & 3R] [
W S0 §U U &9 T U 319 ol F 9eg 7T
qRE 309a & 0T a¢7 “JFe ST S =899
qraeTd g1 & |

qATHF G T YFHF i

10T fafeTse- e BT iv. T ST &1 WA e &Y &l aad 0 g il
TAT O SR W 3F AN g 51 AR
STERFTEN ST T 377 & 3TN Sl faam
& AT WX B aletl STiad Wiar % ST & A
T [ E’:ﬂ— .__)_—I ,:I_l‘ %‘ |
a b C d
v i 1m0
mr iy 11 i
i i v
11 i A )

T YR o Tl g Fieiad 0 F e AT &1 JFe 6 S g 2

(h
(2)
(3)
(4)

pPEEER IR

CENREEIGIIGED

e T

I . e -'\ i
TerReA T T TSTe < Ta =

U9 U U9 UE-1V & 98R FEerEd 1§ 60 U5g 1 T80T Jid Uaerd Ted a1 € 2

(h
(3)

el (4) g w=w
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Why 1s polluted ground water difficult to clean 7 Sclect right answer from the following :
(1)  Watcr cycle stops when water is polluted.

(2)  Groundwater table 15 difficult to reach.

(3)  Groundwatcer is shallow near the ground.

(4)  Water cycle happens very slowly.

Which of the following combination 1s characteristic ol a sustainable society ?
(1) Relics heavily on fossil fucls

(11} Protects biological species [rom extinction

(111} Practices resource conscrvation

(1v)  Uses renewable resources wherever possible

Codes :

(1) I 11 il

(2) i I IV

3] E I D R At

4y v o i

Which one ol the following set of lactors explain the meaning ol endogenous causes of
mortality !

(1y  Biological and environmental factors
(2y  Geneucal lactors
(3) Biological and genetical factors

(4)  Environmental lactors

Arrange the lollowing bigger States ol India in descending order (high to Tow) in view of
their natural growth rate of population according to the SRS Bulletin July 2016 ;

(1) Jharkhand (1)  Rajasthan
{111y Uttar Pradesh (1v) Bihar
Codes :

1y i AU UE T ¥

(2y v i i

3y di i i v
@ fdi iv i
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(2)
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40. \RA & FEACTET 98 591 1 3] STHEEAT ] T8 g5 ot & HE-AsK U 3T’ U S[eR-2016
& FlTeT & SEN AT HY

(1)
(iii)
T

(1)
(2)
(3)
4)
JA-015-17

CHEREICS (i) TeTEIE
ESE (iv) TR

1 Iv 11 11
v 1 i 1
11 1 i 1V
11 111 v 1
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41.  According to NFHS-1V data, which ol the following States had highest percentage of

children age 12 — 23 months recerving full vaccimation coverage 7
(1)  Wecst Bengal 2y Goa
(3)  Sikkim (4y  Tamil Nadu

42. The natural growth rate of India falls in which among the following catcgories as per the
SRS Bulletin July 2016

(1) 6-8% ) 9-11%
By -1 @ 15-17%

43.  According to NFIHS-4, arrange the following States 1n ascending order (low to high) of
their current status of child mortality rate in rural arca ;

(a)y  Andhra Pradesh (b}  Karnataka
(¢y  Tamil Nadu (dy  Telangana
Codes :

(1y  (a) (b (¢ (d)
2y (b)) (¢ (dy (a)
(3) (¢} (dy (b (a)
@ ) © @ (b

44. The age standardized marriage rate for females is given by (Frefer to standard population) :

“ ASMR’ " ASMR' P
2 e % 1000 (2) 1000
a=15 a=15
~ ASMR' P! “ ASMR' P"
il S| il il
@y 2 5 % 1000 () S % 1000

u=13a a=13
45, What 1s the relationship between Gross National Product (GNP} and energy consumption ?
(1) As GNP increases, energy consumption mcreses.
(2)  There 1s no relationship between the two mdicators.
(3)  Each increases in relation to the other.
(4)  As energy consumption decreases GNP mncreases.

Paper-IIT 22 JA-015-17
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41, TF UF UH UE-1V HHS & FER FECET § 9 59 TS 9 12-23 68 A o gedl & o]
SIRTEROT 61 WTEyTd T 2Afde 7 0

(1) s s (2) e

(3) fafsr (4) FTerTE

42, TH AR U F SR 2016 o FoA12A o STTAR 9RT TR dlg ¢ 61 FEerEd 7 9 69 8o 7
T E 9

flk &= 8 2y 9-11%
(3) 12—-14% 4y 15— 17 %

43. U UE UF UH-4 F FATER FEGEa Toar 0 T 56 § 96 9o 5 a9 aaaE i
& 3TTER a3 B (FH W 2AT9%) 7 SHa e H

(ﬂ} \?’ﬂ({ﬂ- ; :" : { h} She r;x_,a:;
(¢) TS (d)  TeTET
Tk

(1y (ay (by (cy (d)
2y (by () (dy (a)
(3) (¢} (dy (b)) (a)
(4 (d)y (o) (a) (b)

T

44. TEATA % T W OFSFT (@@ 53 [ g1 UG 81 § (* T ST a9l 6) 7

‘. ASMR! “ ASMR'P'
(1) &~ x1000 (2) L2 1000

a=1=5a a=15

" ASMR' P! " ASMR' P
e 2 S x 1000 (4) 1000

>
he15 ]

45, O U2 IR (S T U7 797 Sl STERT & 919 -7 Hael g ?

(1) STHSE ST O Ul § gig el &, Sl o1 39T 9@l © |
(2) T TR o S BT WY T2 B |

(3) UHIE T TEY & % FRO AT H gig el & |

(4)  STE-STE FoT T ITHNT T2l &, S O Ol H gl gl 5 |
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Assertion (A) @ It will be very difficult for the Governments of devcloping countrics to
provide 1ts people decent quality of Iife.

Reason (R) : [t 1s due to the prospect of population increase and depleting resources in the
developing countries.

Codes :

(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)is true, but (R) 1s falsc.

(4y  (A)is false, but (R) 15 true.

Which statement of the lollowing are correct ?

(1) Reasons lor migration varies among males and females in India.

(1)  Work 1s a predominant reason for female migration in India.

(1)  Females are predomimant m rural (o rural strewm ol migration.

(1) (1) and (i1) are correct. (2)  (11) and (111) are correct.

(3} (1) and (i11) arc correct. (4)y  Only (11) 18 correct,

Which among the following reason for migration is covered by Census of India, 2001 7
(1} Family unification (2)  Natural calamity

(3)  Development related (4)y  Move after birth

Match different lertility indices in Bongaart's model given m List — I with their formula in
List — 1

List — 1 List — 11
a. C. L. _ TN
TFE
b, CU P CH i, B THFR
— TM
C C]- 11, B T
TN
d C:l v, ['FR
TER + A
Codes :
1 b C d
(1) | i 11l v
{2) i 111 v i

3y i di i v
@ v i i
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TR (A) ¢ Torraeiic 9T =1 THRT o AT 210 JIH] o1 e8] Sier TR ST e 8
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Er

(1) (A) 3 (R) T Tel € 401 (R), (A) Bl Tl STET |
() (A) 3T (R) 21 W1 £, 7 (R), (A) T TT 2 71 & |
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() 9RG T TEW qT AEETsT & Tadq & HROT SN2 81 € |
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(1) Gy Gi) we & 1 @) (iiy T (i) T E
(3) (1)@ (iii) W F | (4) HaoT (i) &1 Wel & |

2001 T WA ] ST g1 G g e | ¥ o e o e T g

(1) Y& =T U (2)  WTHITH 3R]
(3) ok gae (4)  F % TIEE A T8 T I A
AT — | T W T 902 Tigel & (a0 Jsal oshishl &0 Gl — [| T 39 3 o 91 gaied
FHITAT -
T - 1 T — 11
L Gy 1 _ [_l\_[
TE
b Cu L . TER

d. € iv. TER
~ TFR + A
E A
i b ¢ d
(y i n i v

(2) 1 111 1V ]
(3) 1l 1] ] Iy
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Who among the following has opined that migration takes place from labour surplus

sector to deficit scctor as a perceeption of wage differentials 7
(1y Stouller (2)  Sjaastad

(3) Lewis-Rains and Fer Model (4)  Markov

Match Ttems in List — T with List — I and select the correct answer using codes given

below
List — I List — II
a.  Methyl [socyanite . Global Warming

b. Biological Oxygen Demand 1. Water Pollution Codce

¢.  Carbon dioxide . Bhopal Gas Tragedy
d.  Chloroflurocarbons 1v. Ozone depletion
Codes :

a b ¢ 8!

(1) i S P N At
2y i i i A
(313 v I ]
4y 1 v i
According to NFHS-TV data, which ol the following States has highest percentage of ever-

married women experiencing violence during pregnancy

(1) Tclagana (2)  Tamil Nadu
(3)  Bithar (4)y  Kamataka

Which onc of the following organisation was not involved in collaborating survey on

‘Building a knowledge Base on Population Ageing — India (BKPAILY 7
(1} International Institute of Population Science (ITPS)

(2)  Institute for Social and Economic Change (ISEC)

(3y  Institute of Economic Growth (1EG)

(4y  Tata Institute of Social Scicneces (TISS)
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50, FEtAtEa 9 9 6w 79 o I 99 2099y &3 9 9 9T 9§ UEET e & 2797

£

¥y

ST oF BT 21T & 2

(1) &I (2)

(3)  TTT-T0 T GE HigH (4) TR

FT T FHAT ;

= — = — 1

=%

a.  [OUTEST STREMEES i diveh dIae

b. Sl RIS A i, STeT W %
¢, A SIEIHES i, gToTe T AT
d.  FOARFALRE v, 3T 3Taed
% :

i b ¢ d
(1) 1 11 11 1V

2y di i i v
3y v i i i

) i di v

T U UF TE-1V ATl & 3TER Ta] % SR B9 e T 951 Eelgd &1 Afgenet &l
TE 27feeR Hieerd efead 0 ¥ R I 5 g 9

(1} A (2)  AEeTS

(3'} E" ] {4} cheldch

Frafefaa § & %7 o G WRA H gE sl e % a8 0 STHEN HSEN J9

(1 % 1 @ e’ el TR < e § vl 7 o 9

(1) 2™ S faee SRI (3777 37 O UH)
(2) TSR WA eferer Uiiead T W (ae UY € 9h)

(4) 2T WIS a3 ORI (2] 37 T UH)
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Assertion (A) : Health status ol population in our country is not good.

Reason (R) : Social exclusion and incquity across gender, caste and religion are major

barriers to good population health status,
Codes :
(1) Both (A) and (R) are truc and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A),
(3)  (A)is truc and (R) 1s falsc.

(4 (A)is false and (R) 18 true.

Which one ol the following 15 not a measure ol population ageing ?
(1) Relative weight of the elderly in population

(2)  Ageing index

(3)  Old-age mortality rate

(4)  Old-age dependency ratio

According to SRS (2010-13) causc of deaths Statistics, top ten causcs of decath in EAG

States & Assam (all ages) accounts for more than
(1} 70% dcaths 2y 80% deaths

(3)  90% dcaths 4y  100% deaths

Which one of the following Index 1s not used (o measure the extent of digit preference for

ages ?
(1y  Myer’s Index (2)  Whipple's Index
(3)  UN Age-sex Accuracy Index (4)  Bogue's Index

How many Sustainable Development Goals (SDGs) have been dentilied by UN 7
(1y 13 (2) 17

(3) 18 @ 20
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MR (A) ¢ B T9 W SIEE & e o (el ot T8 T
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(1) (A) 3T (R) TAT W&l & AN (R), (A) Tl T2 T T |

(2)  (A) I (R) =M1 Fal &. T (R), (A) T &l 2T 7/l ¢ |
(3) (A)FEI &, T4 (R) Tod 7 |

(4)  (A)TTEH T, T9T(R) TR E |

eTerEs 0 9 0 9 g S & 0 T8 2 7

(1) SHE= T FF o6 &1 996 TR

(2) TS GEEHRE

(3)  FRTEEI  &Y

(4)  FEEE R 3T

TE 3R TR (2010-13) 3 HiE o H07 T4 fiehel o A, € T S U591 A7 399 T 1 (@
T G Ty o Y TH HROT ARG I o SR A o (o R w

(1)  70% =@ (2)  80% T
(3)  90% Hrd (4)  100% =

FAfeTEd § ¥ T Tashies &1 Y90, 2T & 275 aiadr i HiET J19 % 160 T8] Rt STrar 2

(1) =T 6 Gash (T999)

(2) Tower F1 g (5299)

(3) T USZ T 3NY- [T W2l Yehleh (SEo)

(4) T T GEHF (TS

T S FRT Tohe el TRy Sle (U Sl ST W qe W g € Y
(1 13 (2) 17
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Assertion (A) @ Unintended pregnancy 1s low among young womer.

Reason (R) : Young women have more access to health and family welfare programmecs.
Codes :

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are truc, but (R) 1s not the correct explanation of (A),

(3)  (A)is true, but (R) 1s falsc.

4y (A)is false, but (R) s truc.

Which of the following is the major causes of death mn age 1 — 4 years in rural India
according to SRS (2010-13) cause ol death statistics ?

(1) Pneumonia (2)  Iarrhoeal diseases

(3)  Malana (4)  Fever of unknown origin

Which one ol the following was not the substantive focus ol ‘India Human Development
Survey (IHDS)" conducted by the National Council ol Applied Economic Research
(NCAER) ?

(1) Education (2)  Health

(3)  Livelihood (<)  Environment

Which among the following concept 1s not associated with Malthusian approach 7

(1}  Population bomb (2} Positive check
(3)  Tcchnological change (4)y  Overpopulation

Which of the following combination ol factors did not happen to the relative economic
development of the third world, when International Monetary Fund (IMF) and World

Bank (WB) introduced the Purchasimg Power Parity (PPP) measure i 1993 7

(1) Dechned significantly (1)  Remained the sume
(i) Increased margimally (1v)  Doubled
Codes :

(@ O ()
2y () () (1v)
(3)y (i) (i (v)
4) () (1) (v)
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() Seorga™ fREE 32 (i) T @
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(1) ) (i) (i)
(2)  (m (g (v)
(3) ) () (v)
4y () () (iv)
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64. According to NFIHS-IV data, which of the following statc had highest percentage of
current use of ‘any modern method™ ?

(1} Haryana (2}  Andhra Pradesh

(3)  Maharashtra (4)  Karnataka

65.  Which educational category among the following shows highest differcnce between male
and female in census of India, 2011 7

(1) Primary level (2y  Middle level

(3} Sccondary level (4)y  Technical education

66. Which one of the following statement 1s not truc 7
(1}  The period prevalence rate 1s frequently used than the point prevalence rate,

(2)  The period prevalence is the sum of point prevalence at the beginning of the period
plus incidence of cases during the period,

(3) The period prevalence rate 1s used to measure the frequency of illness cxisting
during a defined period.

(4) In case of acute illness of a relatively short duration, the period prevalence rate 1s
approximatcly cqual to the incidence rate when the period of observation is
sufticiently long.

67. Which among the following biological factors affecting foctal and neco-natal infant
mortality ratcs hold truc ?

(1)  Agc of mother (i1)  The birth order

(111)  Spacing between births (1v)  Weight at birth
Codes :

() (2) (1), ()

(3) (1), (1), (i) (4y (), (), Gy and (v)

68.  What 15 not correct about Rashtriya Kishore Swasthya Karyakram (RKSK) ?

(1) Purpose 1s to strengthen the adolescent component of Reproductive, Maternal, New
born Child Health & Adolescent (RMNCH + A) strategy.

(2) A dedicated Adolescent Health Counsellors 15 placed under School Health
Programme.

(3)  Expanded scope of the progrumme ncludes nutntion, sexual and reproductive
health, gender based violence, mental health and substance misuse.

(4)  During the Dirst phase 50% Blocks in 231 districts will be covered.
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69. The following List — [ presents Development activitics and List — IT describes major

impact on cnvironment on account of these development activitics,

Match List — Fwith List =

List -1 List —II
(Development Activities ) (Major Impact on Environment)
a.  Forest Cleaning and Land 1. Extinction of rare species of flora and launa
reseltlements creation of conditon for mosquito breeding

leading to infectious diseases such as malaria.

b. Agro industries 1. Air pollution due to burming of biogases as luel
in sugar mills, large amount ot highly polluting

organic waste surface water pollution,

c.  Timber cxtraction 1. Degrades land, destroy surface oil, reduces
production potential ol luture forests.
d.  Urbanization and 1v. Concentration ol population in urban centres
Industrialization make huge demands on production in rural areas
g P
and put pressure on land, air and water pollution.
Codes :

a b C d
(1y 1v o id 11 1
(2) 11 I i1y
(3) 1 11 11y

) i di v

70, In the model classifies the intermediate variables’ devised by Kingsley Davis and Judith
Blake, which onc among the following is not included under the catceory factors affecting

cxposure to conception (“Conception variable™) 7

(1) Fecundity or infecundity, as affected by involuntary causcs,
(2)  Usc or non-usc of contraccption,

(3)  Cortal frequency (excluding periods of abstinence)

(4} Fecundity or infecundity as affected by voluntary causes (sterilization, sub-ncision,

medical treatment ete.)
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71.  What is not correct in respect of Integrated Child Development Scheme (ICDS) 7

(1} The target group is children in the age group (3 — 6 years.

(2)  Objective s to reduce the incidence of mortality, morbidity, malnutrition and school

dropoul.

(3)  The scheme 15 jomnty implemented by the Mimistry of Women and Child

Development and Ministry of THealth.

(4)  The ICDS scheme also offers package of six services including pre-school non-

formal cducation.

72, Arrange the st four countries among the following in descending order ¢high o0 low}
terms ol the Human Development Index (HI3T) rank assigned to them according to the

U.N. Development Report — 2015 7

(1) Norway

(i1)  Australia

(1) Switzerland

(1v)  Denmark

Codes :

(1Y  Denmark, Switzerland, Auvstralia and Norway

(2)  Norway, Australia, Switzerland, Denmark

(3)  Switzerland, Norway, Australia and Denmark

(4y  Austrahia, Switzerland, Denmark and Norway

Paper-111 36 JA-015-17



www.prepp.in rrepp

Your Personal Exams Guide

71. THE ST [eeh T (TS 91 21 UHE) & a1 § 397 JEl G5l 6 0

(1) RITTHE 0 — 6 T o F dod & |

(2) =TT 3599 U &X, AATAEAdT, FHMNUT 74T TheT e U BIE &l aX T K o1 ¢ |

(3)  I% A Aol AR F67 G BATed a7 W T 51 999 w0 9 Shan-ad &1 5

B E |

(4) \f_,iﬂT:_:F o7 2 vE AT § he l‘if*‘ T 3= ?WHT HIr%d W T3 % Ushs] & A WS

ToRAT TR £ |

72. T4 o gEEE (U 6 377%) % 989 § MEfeiEad ¥ 9 uag =R 5391 % 959 1 O

=

RO — 2015 % 2 9UR 3% 95F [0 0 & & ¥R T 920 60 (9% ¥ F0) 7 Fared

"

(iy e
(i) ArTeran
(i) TETETE

(iv) =796

(=

(1) ==, EesRels, SIRerdr 31 A

e
F
-

(2) =

ST, REZsels, S0

(3) TEReE, 719, o™ 2R &9

(4) Ao, REEsRelE, SAHEh 31 A

JA-015-17 37 Paper-111T



www.prepp.in rrepp

73.

74.

Your Personal Exams Guide

Muatch the following measures ol mortality given i List — I with their definitton 1n
List — I :

List - I List = 11

a. Nco-natal mortality 1. Thc mortality of live-born who have not yet
rcached their first birth day

b. Late-nco-natal mortality ii. Thc mortality of live-born before
complcting 28 days

¢.  Post—nco-natal mortality 111, The mortality of live-born after first wecek
but hetore 28 days of life.

d. Infant mortality iv. Thc mortality of live-born after 28 days and
before rcached first birth day

Codes :

a b C d
(1y 1v il i1 i
2y 1 1y

Q) i i iv i
@ i i i v

Assertion (A) : The high level expert eroup on universal health coverage for India
proposcd cnhancing public expenditure on health from cxisting [.2% of GDP to
atlcast 2.5 by 2017 and to 3% of GDP by 2022,

Reason (R) : The increased public expenditure on health will lead to a sharp decline n
proportion of private "Out of pocket’ spending on health from 67% to around 33%
by 2022.

Codes :

(1) Both (A) and (R) are true and (R) 15 the correct explanation ol (A).

(2)  Both (A) and (R) are true, and (R) 1s not the correct explanation of (A).
3y (A)istrue, but (R) s false.

4y (A)is false, but (R} 1s true.

In India, which among the following s considered as the period of ‘stagnant population
growlh™

(1) 1891 — 1921 (2) 1921 — 1951
(3) 1931 — 1951 (4) 1951 — 1981
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